Please typeset the solution with appropriate math symbol editor.  Please, no stuff like “<=”

 Please show how you arrive at the answer.

Use words in your solution process.  

If you use a computer, please include the details of that work as well.

[image: image1.png]9.24. A company wishes to test 4 different types of tires, 4, B, C, D. The lifetimes of the tires, as determined
from their treads, are given (in thousands of miles) in Table 9-35, where each type has been tried on 6 similar

automobiles assigned at random to tires. Test at the (a) 0.05, (b) 0.01 levels whether there is a differ-
ence in tires.




[image: image2.png]Table 9-35

A 33 38 36 40 31 35
B 32 40 42 38 30 34
C 31 37 35 33 34 30
D 29 34 32 30 33 31





